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Filet Fairy Left Handed Lesson 1

	Row 01:
Ch 79,
dc in 5th. ch st from hook.
Working from Left to right on graph, make:
4 blocks: (13 dc), 5 meshes, 1 block (4 dc), 4 meshes, 1 block (4dc), 3 meshes, 3 blocks (10 dc), 2 meshes, 2 blocks (7 dc)

	Row 02: Working from right to left on graph.
Ch 3, (count as first dc) turn work,
3 blocks (10 dc), 3 meshes, 1 block (4 dc), 4 meshes, 1 block (4 dc), 3 meshes, 1 block, 5 meshes, 1 block and 3 meshes, 2 block (6 dc) increase at end of row.
You should have 7dc at end of row

	Row 03: Working from  left to right on graph.
ch 9 turn work,
2 blocks  (7 dc) increase at beginning of row, 5 meshes, 1 block (4 dc), 5 meshes, 1 block, (4 dc), 3 meshes, 1 block (4 dc), 4 meshes, 1 block (4 dc), 3 meshes, 1 block (4 dc), 1 mesh, 1 block (4 dc).

	Row 04: Working from right to left on graph.
Ch 3 turn work,
1 block (4 dc), 6 meshes, 4 blocks (13 dc), 4 meshes, 1 block (4 dc), 5 meshes, 1 block (4 dc), 6 meshes, 1 block, (4 dc) plus one block increase (3 dc)
You should have 7 dc at the end of row.

	Row 05: Working from left to right on graph.
Ch 6 for one block increase, turn work,
5 blocks (16 dc), 2 meshes, 3 blocks (10 dc), 5 meshes, 1 block (4dc), 6 meshes, 1 block (4 dc), 1 mesh, 2 blocks (7 dc), 1 mesh, 1 block (4 dc), 1 mesh, 2 blocks (7 dc).

	Row 06: Working from right to left on graph.
Turn work, decrease by one block, sl st in 4 dc, ch 3 .
3 blocks (10 dc), 1 mesh, 4 blocks (13 dc), 7 meshes, 1 block (4 dc), 3 meshes, 6 blocks (19 dc), 2 meshes, 3 blocks (10 dc).

	Row 07: Working from left to right on graph.
Ch 6 for one block increase, turn work.
2 blocks (7 dc), 4 meshes, 1 block (4 dc), 4 meshes, 1 block (4 dc), 3 meshes, 1 block (4 dc), 6 meshes, 1 block (4 dc), 2 meshes, 3 blocks (10 dc), 1 mesh, 2 blocks (7 dc).

	Row 08: Working from right to lefton graph.
Ch 6 for one block increase, turn work.
5 blocks (16 dc), 5 meshes, 1 block (4 dc), 9 meshes, 1 block (4 dc), 4 meshes, 1 block (4 dc), 6 meshes, 1 block increase (3 dc).
With the 1 dc at end of last mesh added to the 3 dc for block increase you should have 4 dc at end of row.

	Row 09: Working from left to right on graph.
Ch 6 for one block increase, turn work.
1 block (4 dc), 5 meshes, 2 blocks (7 dc), 5 meshes, 2 blocks (7 dc), 7 meshes, 1 block (4 dc), 2 meshes, 2 blocks (7 dc), 3 meshes, 2 blocks (7 dc), 2 meshes, 2 blocks increase (6 dc).
With the 1 dc at end of last mesh added to the 6 dc for the 2 block increase you should have 7 dc at end of row.

	Row 10: Working from right to left on graph.
Ch 12 for 3 blocks increase at beginning of row, turn work.
4 blocks (13 dc), 2 meshes, 2 blocks (7 dc), 5 meshes, 1 block (4 dc), 3 meshes, 1 block (4 dc), 1 mesh, 1 block (4 dc), 4 meshes, 3 blocks (10 dc), 4 meshes, 4 blocks (13 dc), 4 meshes, 1 block increase (3 dc).
With the 1 dc at end of last mesh added to the 3 dc for 1 block increase you should have 4 dc at end of row.

	Row 11: Working from left to right on graph.
Ch 3 turn work.
1 block (4 dc), 3 meshes, 1 block (4 dc), 4 meshes, 1 block (4 dc), 2 meshes, 11 blocks (34 dc), 6 meshes, 1 block (4 dc), 3 meshes, 1 block (4 dc), 2 meshes, 2 blocks (7 dc), 2 meshes, 1 block increase (3 dc).
With the 1 dc at end of last mesh added to the 3 dc for block increase you should have 4 dc at end of row.

	Row 12: Working from right to left on graph
ch 6 for 1 block increase, turn work.
2 blocks (7 dc), 1 mesh, 2 blocks (7 dc), 2 meshes, 1 block (4 dc), 1 mesh, 2 blocks (7 dc), 8 meshes, 1 block (4 dc), 2 meshes, 1 block (4 dc), 3 meshes, 2 blocks (7 dc), 1 mesh, 3 blocks (10 dc), 6 meshes, 2 blocks (7 dc), 2 meshes, 1 block increase (3 dc).
With the 1 dc at end of last mesh added to the 3 dc for block increase you should have 4 dc at end of row.

	Row 13: Working from left to right on graph.
Ch 3 turn work.
1 block (4 dc), 1 mesh, 1 block (4 dc), 7 meshes, 3 blocks (10 dc), 1 mesh, 2 blocks (7 dc), 2 meshes, 3 blocks (10 dc), 2 meshes, 1 block (4 dc), 4 meshes, 2 blocks (7 dc), 2 meshes, 2 blocks (7 dc), 1 mesh, 1 block (4 dc), 3 meshes, 1 block (4 dc), 2 meshes, 1 block (4 dc).

	Row 14: Working from right to left on graph.
Ch 6, for 1 block increase, turn work.
2 blocks (7 dc), 2 meshes, 1 block (4 dc), 2 meshes, 2 blocks (7 dc), 5 meshes, 2 blocks (7 dc), 4 meshes, 1 block (4 dc), 4 meshes, 6 blocks (19 dc), 2 meshes, 5 blocks (16 dc), 4 meshes, 2 blocks.

	Row 15: Working from left to right on graph.
Ch 3, turn work.
1 block (4 dc), 2 meshes, 3 blocks (10 dc), 2 meshes, 2 blocks (7 dc), 1 mesh, 3 blocks (10 dc), 4 meshes, 1 block (4 dc), 4 meshes, 2 blocks (7 dc), 11 meshes, 1 block (4 dc),  6 meshes, 1 block (4 dc).

	Row 16: Working from right to left on graph.
Ch 3, turn work.
1 block (4 dc), 6 meshes, 1 block (4 dc), 11 meshes, 1 block (4 dc), 5 meshes, 2 blocks (7 dc), 5 meshes, 3 blocks (10 dc), 1 mesh, 2 blocks (7 dc), 3 meshes, 2 blocks (7 dc), 1 mesh, 1 block increase (3 dc).
With the 1 dc at end of last mesh added to the 3 dc for block increase you should have 4 dc at end of row.

	Row 17: Working from left to right on graph.
Ch 3, turn work.
2 blocks (7 dc), 2 meshes, 6 blocks (19 dc), 1 mesh, 1 block (4 dc), 5 meshes, 2 blocks (7 dc), 4 meshes, 1 block (4 dc), 1 mesh, 1 block (4 dc), 11 meshes, 1 block (4 dc), 6 meshes, 1 block (4 dc), and 1 block increase (3 dc).
You should have 7 dc at end of row.

	Row 18: Working from right to left on graph.
Ch 3, turn work.
1 block (4 dc), 5 meshes, 4 blocks (13 dc), 8 meshes, 3 blocks ( 10 dc), 1 mesh, 1 block (4 dc), 5 meshes, 1 block (4 dc), 6 meshes, 1 block (4 dc).

	Row 19: Working from left to right on graph.
Ch 6 for 1 block increase, turn work.
1 block (4 dc), 6 meshes, 2 blocks (7 dc), 6 meshes, 6 blocks (19 dc), 2 meshes, 5 blocks (16 dc), 1 mesh, 2 blocks (7 dc), 5 meshes, 1 block (4 dc).

	Row 20: Working from right to left on graph.
Turn work, sl st in last 4 dc made on previous row for 1 block decrease, ch 3 (count as first dc for first block).
1 block (4 dc), 2 meshes, 3 blocks (10 dc), 1 mesh, 1 block (4 dc), 2 meshes, 1 block (4 dc), 1 mesh, 4 blocks (13 dc), 1 mesh, 1 block (4 dc), 9 meshes, 8 blocks (25 dc), 1 mesh, 1 block increase (3 dc).
With the 1 dc at end of last mesh added to the 3 dc for block increase you should have 4 dc at end of row.

	




